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Master of Commerce (M.Com-10/16)
Second Year, Examination - 2019

Time: 3 Hours Max. Marks: 80

Note:- This paper is of eighty (80) marks containing three (03)
sections-A, B, and C. Learners are required to attempt
the questions contained in these sections according to
the detailed instructions given therein.
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Section-A/ (TUS—h)
(Long Answer Type Question) / (ﬁ'ﬁ SESMP) Uee)

Note:- Section ‘A’ contains four (04) long-answer-type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.
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Describe the principal ratios which you consider
significant while interpreting the published accounts of
company and explain the inferences which may be drawn
from their use.
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What is meant by Financial Analysis? What are the
different technique of financial analysis? Explain any two
of them.

foi favelyor & @i amery 2?2 fa<iia faveiyor &
faf=1 fafer—l s—a W 87 I ITH A el
] BT AR |

Following are the summary of cash transactions extracted

from the books of AB Ltd.:
T @ fa @ gel 9 o T Fdhe oFadl @

IRIE 7 aq & Rs
Balance on 1-7-2016 &1 3T¥ 35,000
Receipts from customer UTgdT & Tt 27,83,000
Issue of Shares 3721l &7 7AA 3,00,000
Sale of Fixed assets vers {g#foay @r fqw 1,28,000

32,46,000
Payments to Suppliers gfciaaiaii &1 Yiam 20,47,000
Payments for fixed assets 2,30,000
WIS Al & o) g
Payments for overheads 1,15,000
IuRedl & ford ara
Salaries da+ 69,000
Income tax AN 2,43,000
Dividend paid ST YITa fobam 80,000
Repayment of Bank Loan 2,50,000
d% T BT YA A

30,34,000
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Prepare a Cash Flow Statement of the co. for the period
ended 30" June, 2017 in accordance with AS - 3
(revised) by direct method.

T Ud — 3 (URNfed) & AR 30 S 2017 I
T B dTell 31af & o) HFel &1 b UaTg

faa=or R BT |

4. Compute the Machine Hour Rate from the following
data:
=1 sifes 9 79 gver &) 91 SN © Rs.
Cost of Machine AZI- &1 T 1,00,000
Installation charge UfissTa= &g 10,000
Estimated scrap value after expiring of life (15year)
ST FHI UR JFHAIT & Hod 5,000
Rent & Rates for the shop per month 200
A BT BT Ud &R (@ A18)
General lighting for the shop per month 300

g BT AR fastell (Wl Arg)

Insurance premium for the machine per annum 960
729 & fory I Wit (ufar a)

Repaire & maintannance expenses per annum 1,000
ARAAT Ud IRV 3 (9f )

Power Consumption (10 units per hour) -

vIfdd SUMRT (10 SHTS UfT =ver)

Rate of Power per 100 units 20
vfdd <X (FfT 100 SHTS)
Estimated working hours per annum 2,200

AT B "ver (UfT av)
This includes setting up time of 200 hours
sH AfeT IR 200 gver S &

Shop supervisor’s salary per month 600

THM =derd & 9d9 (Ufd A1E)
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The machine occupied 1/4"™ of the total area of the shop.
The supervisor is expected to devote 1/5™ his time for

supervising the machine.
ToF 9 geE & e—drenE (1/4) B @1 &R
Gl T | YdeTeh AU~ FHY DT AT 1,/5 I
79 & qderor H§ GANT HRT T |
Section-B (@vs—1)
(Short Answer Type Question) / (cTg] LRS!

Note:- Section ‘B’ contains eight (08) short answer type

questions of Eight (08) marks each. Learners are
required to answer four (04) questions only.

(4%8=32)
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RETRRI &1 g W Bae AR (04) TE B TR
< B

It has been said that “a good costing system is an

invaluable aid to management.” Enumerate the Chief
points in support of this statement.

Ig el AT & b "Uh J=8] AnTd HEiRer gomen
ggehl & o e o 217 39 BUT DI AsHN
# =g 9Tl B I BT |

What is Bin Card? How is it different from stores ledges?
09 u3% a1 27 98 W ook ¥ fod yeR e
87
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Define overtime. How the overtime is treated in cost

accounts?

I BT gRYTST AR | AT oRgl § IfSrTHy
BT oIl HY fHar Srar 27

What are the main features of Job Costing? Describe

briefly the procedure of recording cost under job costing.

JUGR oNTd A & g oeor /1 8?7 Iubr
NTd fafdr & sraia dnTa MeiRer @ fhaifafer e
ey H quie I |

What are the general features of process costing? In what
type of Industries is process costing adopted?

gfehar ord fafr & wm= deror |/ 87 few
bR & SN § Ufehar rTd fafSr 3mo=rs il 87

How are variable and fixed costs treated in marginal
costing?

A g fafr § wm qen aRadeeiia arrdi
@1 ol f6d uasR far Sirar 87

Define Budgetary Control and discuss the objectives of

introducing a budgetary control in an organization.

gorcdl f=or @l gR¥Ig SR g e diTed
T ogoled] A0 IR BRe B Se¥dl bl quie
P |
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Note:-

What is ‘Variance analysis’? Why is it called as a tool of

management?
faeRoer Agewr w7 87 39 Ua BT SYBNU
FiI PEd 87
Section-C (TUs—T)
(Objective Type Questions) / (E&IfTS UeH)
Section ‘C’ contains ten (10) objective type questions of

One (01) marks each. All the questions of this section
are compulsory. (1x10=10)
gus T H 39 (10) RIS U A W, uAD
yed & fow ua (01) ofp FuiRa €1 39 @Wvs &
Tt e e £ |
Fill in the blanks:
R o=t a1 qRf AR -
The aggregate of indirect materials, indirect labour and
indirect expenses is known as ................

YL ATRN, JTYe] 19 dT e Al b AN

................. Department arramges the selection and

training of worker.

................ foarm sl & =g g ufderor &l
TR BT B |
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4, Fixed cost is Rs. 2,000 and variable cost is 60% of sales,

the breakeven point is Rs. .

?WW$ZOOO@WWW€H
60% &, Al TH—fdweg g BT 9 ... |

5. Master budgetisa ............... of all functional budgets.
AR qolc T4 BRITGAR TGOl BT ... BIaT
g

Indicate whether the following statements are.

True or False:
FfTRET ®oF |9 © 31MdT M 9d1gy -
6. A process costing system would be more appropriate than
job costing for an oil refinery.
TS HREM & fold BRI aRTd iRy

A ufthar @ FiRor gomelt it Sugad gl |
7. Labours cost can be reduced by recruiting cheap labau.

I SAfPBT Bl 9l BB AWE AN BH DI of
el 2 |
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8. Break — even point is the point at which total revenue is
equal to total cost.
qa—fdwoe fdg 98 fag 2 RO R o amH g

AN & axTax Bl & |

9. All the variable expenses are indirect expenses.
T4 aRadefiar =g e =g 819 2 |
10. EOQ is that quantity which is most economical to order.

anfefd 3T AT (EOQ ) 98 HIET & Sl 3le¥ oA
H waiere e (qad arell) B |
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